Linguistic Problems Based on Text Corpora

Boris lomdin
V.V. Vinogradov Institute of Russian Language,
Russian Academy of Sciences (Moscow)
National Research University Higher School of
Economics (Moscow, Russia)

i ondi n@ usl ang. ru

Alexander Piperski
M.V. Lomonosov Moscow State University
(Moscow, Russia)
Russian State University for the Humanities
(Moscow, Russia)

api per ski @mai | . com

Anton Somin
Russian State University for the Humanities (Moscow, Russia)

som n@ ut . by

Abstract

The paper is focused on self-contained linguis-
tic problems based on text corpora. We argue
that corpus-based problems differ from tradi-
tional linguistic problems because they make it
possible to represent language variation. Fur-
thermore, they often require basic statistical
thinking from the students. The practical value
of using data obtained from text corpora for
teaching linguistics through linguistic prob-
lems is shown.

1 Introduction

The genre of self-contained linguistic problems
appeared long before the onset of corpus linguis-
tics. The authors of most problems either con-
structed phrases or sentences on their own, or
(much less commonly) used some real texts (e.g.
excerpts from ancient manuscripts). Now that
text corpora become widespread, they offer new
possiblities for problem composing. This paper
gives examples of such problems offered to high
school students in Russia at recent linguistic
olympiads. We comment on the ways such new
problems are solved and show how the data ob-
tained from text corpora and linguistic problems
based thereon could be used for teaching linguis-
tics to high school students.

We deliberately include some of the original
Russian versions of the problems alongside with
their English translations (made specially for this
paper and never published before), so that (1)
those familiar with the Russian language could
use the problems for training, and (2) issues of
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linguistic problem translation could be illu-
strated, too: translations of linguistic problems
are not always equivalent to the originals (cf.
Derzhanski et al. 2004).

2 Corpus-based problems and tradi-
tional problems: what is the differ-

ence?

The most straightforward way of using corpora
for composing problems is to find real-world
examples of some linguistics phenomena. If the
problem deals with a language other than its au-
thor’s native tongue, it is preferable to construct-
ing phrases or sentences (unfortunately, when
experts or native speakers look at constructed
data in the problems assigned at some earlier
contests, they sometimes find it non-idiomatic,
infelicitous or even ungrammatical). If the prob-
lem illustrates some phenomenon in the native
language of its author, it is also preferable to use
corpus examples, because they do not impose the
author’s introspection upon students.

Some corpus-based problems are quite differ-
ent from traditional linguistic problems. Corpus
data allow to present linguistic variation in a
problem, which was difficult to do before the
corpora era. It might be diachronic variation, reg-
ister variation or some other kind of variation.

The traditional linguistic problems require a
strictly deterministic way of thinking (“if this,
then that”). However, in real life linguists often
have to deal with statistical patterns, and this is
where corpus linguistics comes into play. Prob-
lems based on corpus data may exemplify this
approach.
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3 Some corpus-based problems

3.1  Corpus examples illustrating a linguistic
phenomenon in the solvers’ native lan-

guage

Problem #1 (composed by Boris lomdin)

[Tpu nzyuyenun ¢pa3s ¢ raarojaom npedrazams ecre-
CTBEHHO BBIJEISTH [Ba THUIA YHOTPEOIEHHH 3TOro
riarojia. Huke mpuBeseHs! mpumepbl 000MX THIIOB
yHoTpeOJIeHUH.

|

1. /[a0a Braoumup npeonodxicun mpaxmupujuxy

€20 3aMeHumsv U NOmMop2o8amv 3d He20
(A. JleButikas);
Xooun na eoksan, npeonazanr naccaxiscupam
nomouwb cnecmu gewyu (A. Tlantenees);
A Inaxomnuxos npeonodcunr cmams MOUM
PYyKosoOoumenem u NOOeIumvCsi 6CeM, Ymo
3HAN cam KaK ONbIMHeUwull Opeccuposuux
(B. 3anamnstii);
V3nae, umo opye ezo nnoxo cebs uyscmeyem
<...>, Jluxxenc ¢ mpozamenvHou 3a-
bomausocmvlo npednazaem npuexams u no-
Mmoub emy 6 pabome (M. lllarunsn);
Hpa oxazanace ouenv uymkum u om3vig-
YUBLIM UYENI0BEKOM U CPA3Y JHce NPedNo#CULd
Escenuio Anexcanoposuuy nepeexamv x He-
My U yxadcueamv  3a  e20  NOTY-
napanuzogannou mamepuwio (O. JleMbsiHOBA).

Bempemuewuii e2o aowvromanm npednooicun
emy pacnonazamscs u arcoamo
(K. CumoHOB);
Ipeonazaem wumamensm paspabomamo, uz-
20mosUMb U UCHLIMAMb  AKOEe NPUCIO-
coonenue (b. CHHEILHUKOB);
Ho npuwunia cecmpa u npednosxcuna yimu,
dame emy omooxryms (JI. BpoHT™MaH);
On npeonosicun mMHe damos 6 UX uzoameiv-
cmgo kHudcKy cmuxog (A. I'opoHUIKHI);
Hpe xak uenosexy uymkomy u om3wvi84uEoMy
ObLIO MAdCENO CMOMpPemb HA CMPAOAHUs
M0bUMO20 uYenogekda, U OHA NPeodNodCULd
npooamv Keapmupy u nepeexamv dcUms K
neil (O. IeMbsiHOBA).

3amanue 1. OOBACHUTE, YeM PA3MUIAIOTCS TH JIBA
THTIA YHOTPEOIICHIH.

3amanue 2. K xakoMy TUIy ynoTpeGIeHHI MOKHO
OTHECTH CJICAYIOIHE TPUMEPHI:

11. On npeonoocun Muocyesy damov Oenee Ha
amo deno, u Muoicyes padocmmo coeracuics
(M. ApupibameB);

Yepez 06a OHA NO36OHUNU CO CmMyOuu U
NPeonoACUNU NPUEXaAmb U 3AKTI0YUMb 0020~
sop (JI. Beptuuckas);

13. U som Oedywka Paxnenxo npeonacaem Ky-
cueny NpoSHAMb Mep3asyd NPUKA3YUKa U
emecmo Hez2o 83amb moezo omya (A. Priba-
KOB);

10.

12.
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14. A npeonoscuna Hpe nomouv OeHveamu, HO
OHa CKA3a1a, YMO Y HUX €CMb HA JICU3Hb
(3. Macnenukosa).

Ecnu B kakux-To citydasx Bbl cuuraere, 4ro BO3-
MOXHBI 00a OTBeTa, yKkakute 3T0. [loscHure Bame
pelieHue.

3ananue 3. Uto Bl MoxeTe ckazath 0 ClleqyromeM
npuMepe:

15. Ou oaoce npednoxcun mue oasamv IOpe
YPOKU (panyy3cKo2o A3biKA U NAAMums 3d
ypok mapenxoi cyna (B. I'poccman)?

English translation:

Looking at sentences with the Russian verb
predlagat’ ‘to offer, to suggest’, one finds out
that it can be used in two different ways. Consid-
er some examples for both (the Russian verb in
question is replaced by a fictional English verb fo
predle):

|

1. Uncle Viadimir predled the barman to
replace him and to trade for him for a
while (A. Levitskaya);
He used to come to the railway station
and predle the passengers to carry their
luggage (A. Panteleev);
Plakhotnikov predled to become my in-
structor and to share with me everything
he knew as a very experienced animal
tamer (V. Zapashny);
As soon as he learned that his friend was
sick, Dickens, with a touching affection,
predles to come and help him in his work
(M. Shaginyan);
Ira appeared to be a very considerate
and sympathetic person. right away she
predled to Evgeny Alexandrovich to set-
tle at his place and to take care of his
half-paralyzed mother (O. Demyanova).
1
The aide-de-camp who met him predled
him to sit down and wait (K. Simonov);
We predle the readers to work out, make
and test such a device (B. Sinel’nikov);
But a nurse came and predled to leave,
to give him some rest (L. Brontman);
He predled me to submit a verse book to
their publishing house (A. Gorodnitsky);
Ira, as a considerate and sympathetic
person, found it hard to watch how her
beloved one was suffering, so she
predled to sell the apartment and to set-
tle with her (O. Demyanova).

1. Explain the difference between the two
usages of the verb.

10.



2. Consider the following examples. What can
you say about the ways the verb to predle is used
in them?

11. He predled Mizhuev to give money for

the cause, and Mizhuev gladly agreed
(M. Artsybashev);

12. After two days, someone called from the
studio and predled to come and sign a
contract (L. Vertinskaya);

So, old Rakhlenko predles Kusiel to kick
out the villain clerk and to employ my fa-
ther instead (A. Rybakov);

14. [ predled Ira to assist financially, but she

told me that they had enough for a living
(Z. Maslenikova).

If in some cases you believe that both answers
are possible, give both and explain.

3. What can you say about the following ex-
ample:

15. He even predled me to give French les-

sons to Yura and to pay with a plate of
soup for each lesson (V. Grossman)?

13.

Solution of Problem #1

It can be seen that the verb predlagat’ (or the
artificial English verb fo predle) may govern two
types of infinitives: subject infinitives, as in I,
and object infinitives, as in II. These two types
of usage may represent two different senses of
the verb predlagat’, which could roughly be
translated as ‘to offer (to do something)’ and ‘to
suggest (that someone else does something)’.
The most interesting thing here is that in many
cases it is quite hard to determine whether the
infinitive refers to the subject or to the object. In
fact, both answers are possible in all examples
11-14. Example (15) seems infelicitous: the au-
thor clearly meant that ‘me’ is to give lessons
and ‘he’ is to pay. See (Iomdin & Iomdin 2011)
for further discussion.

Comment

This problem does not differ much from tradi-
tional linguistic problems. The solvers are of-
fered textual examples from their native lan-
guage and are requested to analyze them. How-
ever, it is important that these examples are not
constructed, which makes the problem more
trustworthy. No solver can say “I don’t use this
verb this way!” because s/he is confronted with
real-life examples.

Problem #2 (composed by Boris lomdin)
OI[I/IH JIMHTBUCT NOMPOCUII 3HAKOMOT'O roJuianana,
XOpOILO 3HAIOMIETO PYCCKUHA S3bIK, MEPEBECTH Ha
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TOJUTAHJICKUI HECKOJIBKO OTPBIBKOB M3 JIUTEPATYPHBIX
npousBeneHuil. Ero mHTEpecoBano, Kakue riarosibl
TOJUTAHJICT] MCMOJB3YET JUIsl TIEPEBOAa TEX PYCCKUX
[JIaroJioB, KOTOPBIC B MPHBEAEHHBIX HIKE I[MTATAX
Mo u€PKHYThI. BapuaHThl, MPeIOKEHHbIE TOJUTAH]I-
1IeM, YKa3aHbl B CKOOKax.

1) 3a nycmyro 6ymoiaky oxomuo omoasanu ceou
o2pomible mpocmuuKosvle uiisansl. Bee y nac name-
nanu (Krijgen) smux winsn (M. ToHuapos).

2) U som pabomsea, ompabomas 12-14 uacos &
CMeHy, MOem RObl HOUbIO 3a 9MuU 08e NANUPOCHL Ma-
baxy. U ewé cuumaem 3a cuacmoe — 8edb Ha Mabax
on evimensiem (Krijgen) xze6 (B. lllanamos).

3) Kuuorcex s namensn (Krijgen) y myowcuxos, na
Kypeeo xomenu, oa oymaea moacmas (J1. JIeoHoB).

4) Kouoyxmop moco mpamedas OmHEC NAibmo Ha
bapaxonxy u mam obmensn (ruilen) na cmemany,
Kkpyny u nomuodoput (J1. Xapmc).

5) Ha nupoocuvie on gvimenusan (ruilen) xzeo,
MYKY, Macno, nueno, mabaxk — 6ecb COCMas c80e20
naiika, 3a UCKIIOYEHUEM Caxapa. caxap OH OCMAGsL
cebe (B. XomaceBuu).

6) Hamensnu (Krijgen) namaxos, nonuaca 0oszsa-
Husanuco (M. Bemep).

7) Ho ecnu nopmHomy He HYHCHA 2pyuid, a HYJiCeH,
K npuMepy cKaszamv, Mo, mo bl OOINHCHbL NOUMU K
cmonApy, 0amv eMy epywy 3a mo, Ymo OH coeldem
cmon, a nomom smom cmon gvimensms (ruilen) y
nopmuoeo na oproxu (H. Hocos).

8) Ho, kax uoHO, pyccyl CUTbHO JiCelanil GbLMEHU-
sams (Krijgen) ua ceou mosapul apabckue monemul,
oupaembl, Komopvie 6e30e U 60 GCAKOM 3HAHEHUU
umenu 6oavuiyro yennocms (C. COnoBBEB).

9) Ou 6esrcan Houwto u3 [eipox npsamMo Ha Keapmu-
py k Yuumemo, eunmosxy obmensan (ruilen) na ose
OYMBLIKU CAMOSOHA U 8 NbAHOM GUOe OCKIaAMUPOBAL
"Kneeemnurxam Poccuu” (1. DpenoOypr).

10) Dmom xanvsan evimensn (Krijgen), wiu, npagoy
cKA3amb, GLIMAHUIL 51 Y AHSIUUCKO20 NYMeulecmeeH-
nuka (A. bectyxeB-MapianHCKH).

11) ... Tonnorw okpyswcénnsiii ciye;

Yeepocmeys, onu 6 uacwl 6una u opaxu

H uecmo u ocusnb e2o ne pas cnacanu: 0pye

Ha nux on goivensn (Krijgen) 6opsvie mpu
cobaxu! (A. I'puboenon).

12) A ceco0na, epaxcoanuH,

IInoxo cnan:
Jywy 5 na kepocun
Obmensn (ruilen) (B. 3oprendpeit).

3amanue 1. Jlano emé Heckoibko mutar. Onpene-
JIMTEe, KaKWe TJIAroJibl MCIOJIb30Bal TOJUIAHJCI IS
MepeBo/ia Kax/J0ro u3 Mo uépKHyThIX riaroios. Eciu
B KaKHX-TO CITyJasx Bel He MOXeTe BBIMOJHUTH 3a/1a-
HHE C YBEPEHHOCThIO, OTMEThTE 3TO. [losgcHuTe Baie

penieHue.
A. B dome 6vL10 yorce npoOano, 8bIMEHAHO HA NPO-
oykmul  6cé, umo  ModxcHo. Kpome  nuanuno

(H. I'pexosa).
Bb. Bom on cuoum 3a 6onvwum cmonom u kiadém
pesonioyuu  Ha NOOHOCuMblx Oymazax: “Om-Kka-



samu!!!” Bbi xomume o00MeHAmMb 4MO-MO MeHbllee
Ha umo-mo 6onvuee. Omrazams! Boi xomume obme-
HAMb YMo-mo Oonvuiee Ha Ymo-mo menvuiee. Omka-
samy! (B. BoiiHOoBHY).

B. Bouwenamo Hooicux Ha yoouky (C. Oxeros,
H. I1IBenoBa, ToIKOBBII CIIOBaph PyCCKOTO SI3BIKA).

I'. Ou 0s8a Ona He en xneba, 3amem BbLMEHAN HA
xneb 6onvuiol pudpossiii yemooar (B. LllamamoB).

. Tenepwv cnedyem eonpoc: kak 0obwvleanu pyccol
cou cesephvie mosapul? Koneuno, onu moz2nu gvime-
HUBAmMb UX y mysemyes Ha Kaxue-Hubyob npousseoe-
HUSL 2pPeyecKoll NPOMbIUIEHHOCMU...; HO 2JlAGHbIM
UCOYHUKOM Npuodpemenus Obliu Oanu U HOMOM
oxoma (C. ConoBbEB).

E. A nasepnoe, ne 3ps

B smom pas xooun é mops,
Hamensn ss mam nodapros,
JKoém ux ecs most poous (O. 'azmaHOB).
3amanue 2. Onmpasch HAa MaTepual 3agadu, cPop-
MYJIHpYHTE mpaBuia YHOOTPEOJICHUS] TOJUIAHICKHX
TIIaroNoB krijgen u ruilen.

English translation:

A linguist asked a speaker of Dutch familiar
with the Russian language to translate several
excerpts from Russian books into Dutch. He was
interested in the verbs the Dutch speaker would
use as equivalents for certain Russian verbs: na-
menjat’ (hereafter ‘to N’), obmenjat’ (hereafter
‘to O’) and vymenjat’ (hereafter ‘to V’), all asso-
ciated with the idea of exchange. The equivalents
used by the Dutch speaker are given in brackets.

1. They were willing to give away their
enormous reed hats for an empty bottle.
We all N-ed (krijgen) these hats
(I. Goncharov).

So the drudge, having worked for 12 to 14
hours in a shift, washes the floors during
the night for these two cigarettes. And he
even is happy with it, since he will V
(krijgen)  bread for the tobacco
(V. Shalamov).

I N-ed (Krijgen) some books from the pea-
sants, they wanted to use them for smok-
ing, but the paper’s too thick (L. Leonov).

The tram conductor took the coat to the
flea market and there he O-ed (ruilen) it
for sour cream, groats and tomatoes
(D. Kharms).

For pastry he V-ed (ruilen) bread, flour,
butter, millet, tobacco, — all his ration, ex-
cept for sugar, which he always kept
(V. Khodasevich).

They N-ed (Krijgen) five kopeck coins and
tried to establish a telephone connection
for half an hour (M. Veller).
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7. But if the tailor does not need pears, but
needs a table for example, then you have
to go to the woodworker, give him a pear
for the table he should make, and then
V' (ruilen) this table for trousers with the
tailor (N. Nosov).

But apparently the Russians really wished
to V (krijgen) for their goods Arabian
coins, dirhem, which had a great value
everywhere (S. Solovyov).

At night, he ran away from the Holes di-
rectly to the Teacher’s apartment, O-
ed (ruilen) the gun for two bottles of al-
kie, and being drunk recited “To the slan-
derers of Russia” (1. Erenburg).

I V-ed (krijgen), or, to say the truth, jug-
gled out this water-pipe from a British
traveler (A. Bestuzhev-Marlinsky).

Had a team of loyal servants / That during
fight-and-drinking rounds / Had saved his
life and honour, but then once / He sud-
denly V-ed (krijgen) them for three
hounds. (A. Griboyedov, translation by
A. Vagapov)

Today I slept bad, citizen: I O-ed (ruilen)
my soul for kerosene (V. Sorgenfrei).

1. Consider some more examples. Determine
which verbs the Dutch speaker would use in
these examples. If in some cases you believe
several solutions are possible, explain.

A. In the house, everything was already sold,
V-ed for food. Except for the piano (1. Grekova).

B. Here is he sitting at a large table, writing
his decisions on the documents he is given: “Re-
fu-sal!!!” You want to O something smaller for
something larger. Refusal! You want to O some-
thing larger for something smaller. Refusal! (V.
Voynovich).

C. V a knife for a fishing rod (Ozhegov and
Shvedova Explanatory Dictionary).

D. For two days, he had not been eating
bread, and then he V-ed for bread a large wood-
en chest (V. Shalamov).

E. Now comes a question: how did the Rus-
sians get their Northern goods? Of course they
could V them from the locals for some Greek
manufactured goods ...; but the main source for
them were imposts, and then hunting (S. Solo-
vyev).

F. Probably not in vain / Was [ at sea this
time / I N-ed presents there, / And my whole fam-
ily is waiting for them (0. Gazmanov).

2. Based on the data in the problem, explain
what the Dutch verbs krijgen and ruilen mean.

10.

11.

12.



Solution of Problem #2

All three verbs in question are used with ob-
jects. With N (namenjat’), the object always sig-
nifies the thing obtained in the exchange; with O
(obmenjat’), the object always signifies the thing
given away in the exchange. As for V (vymen-
jat’), it is used in both ways (which is a very rare
case of a double government pattern). The Dutch
verb krijgen, therefore, means ‘to get in return’,
and ruilen means ‘to give away’.

Comment

This problem is similar to problem #1 in the
way it exploits corpus data., The examples come
from real texts (and even the Dutch speaker is
real), and the only difference is the reference to a
foreign language which makes it easier to see the
different senses of the words in the solvers’ na-
tive language.

3.2 Corpus examples illustrating diachronic

variation

Problem #3 (composed by Boris lomdin)
C1oBo napanienvHo B TNTEPATyPHOM SI3BIKE MOXKET
VIPaBIATh KaK CYIICCTBUTEIBHBIMH B JaTeIbHOM
najexe (KOHCTPYKIUS A), TaK M CyIIeCTBUTEIbHBIMU
B TBOPHUTEJIFHOM Majexe ¢ NPeuioroM ¢ (KOHCTPYK-
s b). Hioke nans! npumepsr 00enx KOHCTPYKITHIA:

1. Bacuu ysuoen nowunky. Ona wina napaniens-
HO HeMyam, npespaxcodanda um nymo K Ousu-
suony (I'. baknaHoB).

Eé nymo nedxcan napannenvno mapupymy
mpameas (b. IlactepHak).

Mue 6vi10 Henpusmuo, 4mo Kaxkue-mo Jaoou
napannenvHo ¢ Hamu, no obe CMOpoHbl OMm
Hac, npoouparomcs Ha xoim (. ckannep).
Tenepv onu uwiu napanaeavho Hacvinu (A. 1
b. Crpyramxkue).

Hamamuigas munu na xapoan, / A edy napan-
nenvno nposodam (B. Bricouknit, 1971).
Hameyanuce xopomxue nemuue, neped om-
nyckom, eacmponu 6 Puce napannenvno c pa-
6omoti 08yx mockosckux cyen (C. ITunsasckas).
Hoguvie 6ocomu-oesamusmadicnvie doma cmosi-
AU PA3OMKHYMbIM — CHIPOEM — RAPAiIeIbHO
oynveapy (0. Janmaib).

Ompocuutl yc mopuan yxce He RaApaineabHO
3eMHOU NOBEPXHOCMU, A NOUMU NEePHEeHOUKY-
JasApHo, Kak y nodcunozo xoma (U. Unbd,
E. [Tetpos).

Mbi ensdenu Ha Hekomopule beceOKU U Xpambi
no evicomam, aH0608AIUCL OTUHHON, UOYULEI0
RApanenbHo ¢ 6epecom Kedpogoio anneero
(M. T'onuapos).

IHapannenvno ¢ monmasicom udém u omoenxa
gacada («KomcoMoIbCcKas IpaBiay).

10.
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11. C kaocovim 2000M 3a800CKOMY HACENEHUIO
npuxooumcs msoiceiee, d RAPANLIETbHO C
OMUM  8038blUUAEMCA O1A20COCMOsIHUE YNpa-
sumeinel, ynpasiaiouux, N0EPeHHbIX U Yeno20
couma  cnyocaweeo mooa (A. MamuH-
Cubupsk).

3ananue 1. B coBpeMEHHOM PYCCKOM SI3bIKE MOKHO
YCMOTPETh HEKOTOPYIO TCHICHIINIO, B COOTBETCTBHH C
KOTOPOH B OJTHUX CIyYasX YHOTPeOIseTCS KOHCTPYK-
must A, a B Apyrux — KoHCTpyKius b. O0wsicHute, B
4yéM COCTOMT 3Ta TeHJeHuus. Bce n npumepsl, npu-
BeACHHBIE BhINIE, €l cooTBeTcTBYIOT? Ecmm Her, ¢
4eM, 110 Baiiemy MHEHHIO, 3TO MOXKET OBITh CBSI3aHO?

3amanue 2. PackpoiiTe cKOOKH, HCIOIB30BaB JIHOO
KOHCTpyKuuio A, nmubo xoHctpykimto b. Eciu B ka-
KHX-TO CIy4asx BBIOOp KOHCTPYKIUH BEI3BIBACT Y
Bac comHenus1, oTMETETE 3TO:

A. Kax eooumcs, napannenvro (OymaxcHas 60ii-
Ha) npoucxoouna yexapoa ¢ COOpaAHUAMU AKYUOHEPOS
(«Beuepnsist MockBay)

B. 30ecs, Ha cosemckoii meppumopuu, y camotu
epaHuysl U NApanienbHo (0Ha) npoxooum Aszycmos-
cxuil kanan (B. CyBopoB)

B. Komnama ®panya ewvixoouna Ha ynuyy, uieo-
wiyro napannenvho (Hadepesxcnasn) (B. Habokon)

I'. Onu [pabpuuno-3aeoockue komumemot] cywe-
cmeosanu napauieivHo (npoghcorozvl) u 06veouHu-
auce ¢ numu ¢ 1918 2. (bombiias coBeTCKast SHIUKIIO-
TIC/IHS)

H. Ckaorcem, 6 wexcnuposckom «Kopone Jlupe»
crooicemuasn aunus Jlupa passusaemcsi napaiieibHO
(nunus I'nocmepa) (T. lllabamina).

3amanme 3. B mocnegHee BpeMs B ITyOJHIIMCTHKE
CIIOBO NapanleibHo CTal0 HMHOTHAA YIHOTPeOIATHCS
enl€ B OAHON KOHCTPYKLMU — C TIPEIUIOIOM 07:

E. Penueus oonoicna cywecmeosams napanienbHo
OMm 2paxcoanckoeo obuecmea.

XK. DOma cmopouna ocuznu cywecmeosaira 20e-mo
RApPanIenbHoO OMm MeHs U MeHs He 3ampazusand.

3. Hawe eocyoapcmeo 6cé ewié ocueém napan-
J1eTILHO OM C8OUX 2PAIICOAH.

ITonpoOyiiTe 00BACHUTH MPUIMHEI BO3SHUKHOBEHHS
TaKOH KOHCTPYKIIUH.

English translation:

The Russian word parallel 'no ‘in parallel’ can
govern nouns in dative case (‘parallel to’, con-
struction A) as well as in instrumental case (“pa-
rallel with’, construction B). Consider examples
for both constructions.

1. Vasich saw a small hollow. It was going

in parallel to the Germans, blocking their
way to the squadron (G. Baklanov, 1961).

2. Her way was to be in parallel to the tram
route (B. Pasternak, 1945-55).
3. [ did not like it that some people were

climbing the hill in parallel with us, on
both our sides (F. Iskander, 1990).



4. Now they were going in parallel to the
embankment (A. and B. Strugatsky,
1971).

5. Winding up miles onto the cardan, I am
driving in parallel to the wires
(V. Vyssotsky, 1971).

6. A short summer tour in Riga was planned

before the vacation, in parallel with the
operation of the two theater stages in
Moscow (8. Pilyavskaya, 2001)

New eight to nine-storey houses were
standing in a broken line, in parallel to
the boulevard (Yu. Daniel, 1962).

His much grown whisker was no longer
sticking out in parallel to the ground sur-
face, but was almost perpendicular to it,
as if he was an old cat (1. II'f, E. Petrov,
1927-8).

9. We were looking at some gazebos and
churches above, enjoying a long cedar-
tree alley, which went in parallel with the
shore (1. Goncharov, 1855-7).

10. Finishing the facade is progressing in pa-

rallel with the mounting («Komso-
mol'skaya Pravda» newspaper, 2007).
Each year, the plant laborers find their
life to be harder and harder, and the well-
being of the managers, lawyers and a
whole bunch of employees grows in paral-
lel with it. (D. Mamin-Sibiryak, 1874-5).

1. There is a tendency in modern Russian to
use construction A and construction B in differ-
ent cases. What is the difference? Does every
example above comply with this tendency? If
not, what could be the reason?

2. Choose either Construction A or Construc-
tion B for the following examples. In case you
have difficulty with some sentences, explain
why.

A. As usual, a cockalorum with share holders
meetings was happening in parallel to / with the
paperwork war («Evening Moscow» newspaper,
2007).

B. Here, on Soviet territory, near the very
border and in parallel to / with it, lies the Au-
gustow Canal (V. Suvorov, 1968-81).

C. Franz’s room had window to the street
which was going in parallel to / with the quay
(V. Nabokov, 1927-8).

D. They [factory and plant committees] existed
in parallel to / with the trade unions and joined
them in 1918 (Great Soviet Encyclopedia, 1969—
78).

11.
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E. Say, in King Lear by Shakespeare, the plot
line of Lear is developing in parallel to / with the
line of Gloucester (T. Shabalina, early 2000s).

3. Lately, the Russian word parallel’no has
been used in another construction, governing
nouns in the genitive case:

F. The religion should stay in parallel from
the civil society.

G. This side of life was somewhere in parallel
from myself and did not touch me.

H. Our state still lives in parallel from its citi-
zens.

Explain the reasons why this construction is
emerging.

Solution of Problem # 3

Construction A (in parallel to) is used when
referring to the spatial situation (e.g. of two lines
being parallel to each other). Construction B (in
parallel with) is used when referring to the tem-
poral coincidence (e.g. of two simultaneous
events). This can be explained by the inheritance
of the government pattern from its cohyponyms
or synonyms (perpendikuljarno chemu-libo ‘per-
pendicular, vertical to smth’ vs. odnovremenno s
chem-libo ‘simultaneously with smth’). One ex-
ample does not comply with this rule, and it is
the oldest one which dates back to the mid-19"
century. Apparently, the rule is rather new (in-
deed, searching the corpus shows more counte-
rexamples in the old texts; this can be shown
when discussing the problem with the students
and talking about corpus annotation). Construc-
tion C (in parallel from) is much newer, it can
only be found in 21* century texts; this type of
government is inherited from nezavisimo (avto-
nomno, svobodno) ot chego-libo ‘independently
from smth’.

Comment

This problem illustrates diachronic variation in
Russian. It would be impossible to compose such
a problem without using a corpus with rich me-
tadata. Most of the examples come from the Rus-
sian National Corpus (http://www.ruscorpora.ru),
but it turned out there are not enough examples
of these constructions in the RNC. For this rea-
son, some more examples had to be taken from
the Internet. This illustrates the concept of Web
as corpus (see also problem #6).

This problem was assigned at the Russian
Linguistics Olympiad in 2007, and it did not in-
clude the dates of the texts. The high school stu-
dents had to understand themselves that the ex-
cerpt from Ivan Goncharov’s text is the oldest




one. It was possible because Goncharov’s novels
are part of the school curriculum in Russia, and
students can be expected to know when he lived.
This shows that corpus-based problems some-
times require extralinguistic knowledge to ac-
count for the variation. Of course, the author of
the problem has to be sure that all the solvers are
expected to have such knowledge. This makes
such problems similar to real-life linguistic re-
search where one can never be confident whether
all the information required for explaining the
phenomenon is at hand.

Problem #4 (composed by Aleksandrs Ber-
dicevskis)

Consider a Google Books Ngrams frequency
diagram for three spellings of the same Russian
word throughout the 20th century («borsy,
«bory», «6or» ‘God’). Which line corresponds to
which spelling?

Solution of Problem # 4

The sharp frequency changes are caused by
historical events which influenced Russian or-
thography: (1) the October revolution (and the
orthography reform of 1918) and (2) the fall of
the Soviet Union. Shortly before the revolution,
the black line starts subsiding, while the gray line
and the dotted line go up. After the revolution,
the black line disappears, and the dotted line
grows higher than the gray one and stays there
until the fall of the Soviet Union. Therefore, the
black line is the spelling hoew, ending with the ‘b
letter abolished after the Revolution. The dotted
line is the spelling 6oe: during the Soviet rule,
this word was never capitalized. The gray line
stands for hoe, which is the present-day norm for
the monotheistic deity. The dotted line, however,
does not disappear, since the word for ‘god’ does
not always reference such a deity.

Comment

This problem also presents a case of variation,
namely diachronically motivated orthographic
variation. This problem requires quite a lot of
extralinguistic knowledge, but Russian high
school students are expected to know about the
history of the letter b and the antireligious policy
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in the Soviet Union. The most important part of
the problem is to connect this knowledge with
the data represented on the graph.

3.3 Corpus examples illustrating synchron-
ic variation and requiring statistical

thinking

Problem #5 (composed by Alexander Pipers-
ki)

Russian hypocoristics (diminutive forms of
personal names) are most often formed using two
classes of suffixes: -ock-/-eck- and -on 'k-/-en’k-.
Below are some names and the hypocoristics
with these suffixes derived from them. Each hy-
pocoristic is supplied with the number of texts in

the Russian National Corpus

(http://www.ruscorpora.ru) in which it occurs:
Base form | -o¢k-1-eck- -on’k-l-en’k-
Alla Allocka — 48 Allon’ka — 1
An’a Anecka— 111 | Anen’ka -2
Val’a Valecka — 58 Valen’ka — 8
Vas’a Vasecka -9 Vasen’ka — 119
Volod’a Volodecka — 15 | Voloden ka — 38
Glasa Glasecka—0 | GlaSen’ka — 11
Dima Dimocka —22 | Dimon’ka —0
Klava Klavocka —20 | Klavon’ka — 0
Kol’a Kolecka—19 | Kolen’ka — 173
Nad’a Nadecka -3 Naden’ka — 102
Pet’a Petecka—11 | Peten’ka—170
Sasa Sasecka — 4 Sasen’ka — 155
Sveta Svetocka —39 | Sveton’ka —0
Sen’a Senecka—15 | Senen’ka —0
Seréza Serézecka — 6 | Serézen’ka — 76
Tan’a Tanecka — 120 | Tanen’ka — 0
Tol’a Tolecka — 17 Tolen’ka —7
Jul’a Julecka — 22 Julen’ka — 27

1. Here are six more pairs of hypocoristics:
Vitecka ~ Viten ’ka
Olecka ~ Olen’ka
Lidoc¢ka ~ Lidon 'ka
Sonecka ~ Sonen’ka
L’ubocka ~ L ubon ’ka
Jasecka ~ Jasen ’ka




Try to predict for each of these pairs which
hypocoristic occurs in more texts in the Russian
National Corpus. If you cannot do that for some
names, explain why.

Solution of problem #5

The choice of the suffix depends on the last
consonant of the stem. -ock-/-eck- is more fre-
quent after non-palatalized (“hard”) consonants
and after n’ (dissimilation). -on k-/-en k- is more
frequent after hushing sibilants (5, Z; dissimila-
tion) and after palatalized (“soft”) consonants
other than n’. For [’ no rule can be stated.

Therefore, the expected more frequent forms
are Viten’ka, Lidocka, Liubocka, Sonecka and
Jasen’ka. For Olecka ~ Olen’ka no prediction
can be made.

Comment

This problem requires the ability to neglect in-
trospection, since all Russian-speaking solvers
have some intuitive judgements on the topic. It
also shows that a linguist sometimes has to work
with tendencies, rather than strict rules and leave
some variation unexplained.

3.4

Problem #6 (Composed by Vitaly Pavlenko)

In Turkish, the word kadin ‘woman’ is used
when naming women by their profession, occu-
pation, etc. This word can be placed before the
noun referring to a profession as well as after it;
there are no absolutely precise rules explaining
it, but there is a certain tendency, according to
which one of the two possible variants is used
more often than the other.

Given are some Turkish phrases with the word
kadin and their English translations. For the first
9 phrases, it is stated how many times they occur
on the Internet as kadin X and how many times
as X kadin. For the last 6 phrases the correspond-
ing numbers are given to choose from:

Other corpus-like data

Turkish phrase translation
kadin barmen (40) barwoman
barmen kadin (191)
kadin dikisci (2)
dikisci kadin (112) seamstress
kadin hakem (1,910) female judge

hakem kadin (107)
kadin kasiyer (82)
kasiyer kadin (112)
kadin miihendis (3,350)
miihendis kadin (428)
kadin 6gretmen (36,200)
o6gretmen kadin (6,500)

female cashier

female engineer

female teacher
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kadin polis (41,200)

olis kadn (13,700) policewoman
kadin gazeteci (23,200) . .
gazeteci kadn (1,720) female journalist
kadin satict (400)
saleswoman

satict kadin (2,190)
kadin avukat (...)
avukat kadm (...) 780/ 9,520
kadin ¢evirmen (...)
cevirmen kadin (...) 29/ 1,630
kadn firmnci (...)
firinct kadn (...)10/275
kadin ressam (...)
ressam kadin (...) 407 / 15,000
kadwn siit¢ii (...)
stitgii kadin (..) 97/ 758
kadwn terzi (...)
terzi kadin (...) 639/ 1,450
1. Put the right numbers into the brackets. Ex-
plain your reasoning.
Note. g, ¢, s, 1, 0, ii are special sounds of Tur-
kish. The numbers given in the problem are
Google hit counts as of October 23, 2008.

female lawyer

female translator]

female baker

female artist

milkwoman

tailoress

Solution of Problem #6
When used with the names of skilled occupa-
tions kadn is put before the noun, and with the
names of service sector occupations kadin is put
after the noun. The answer is as follows:
kadin avukat (9,520)
avukat kadin (780)
kadin ¢evirmen (1,630)
cevirmen kadin (29)
kadin firmcer (10)
firict kadmn (275)
kadin ressam (15,000)
ressam kadin (407)
kadin siitgii (97)
stitcii kadin (758)
kadn terzi (639)
terzi kadmn (1,450)

female lawyer

female translator

female baker

female artist

milkwoman

tailoress

Comment

As well as #5, this problem shows that linguists
sometimes have to deal not with precise rules (as
it is usually the case in traditional linguistics
problems), but only with tendencies. It also de-
monstrates that search engines can be used in
linguistic studies as large corpora. In this prob-
lem the exact difference between the two num-
bers does not matter (e.g., 82 vs. 112 is the same
as 2 vs. 112 for the purposes of the problem), but
similar problems might be created where the dis-
tance between the two numbers is essential.



4  Corpus linguistics problems: Some
pitfalls

We have shown that corpus-based problems have
some advantages over traditional types of prob-
lems. However, some of these can be regarded as
weak sides, too.

Corpus linguistics problems illustrate linguis-
tic phenomena with real data. Unfortunately,
many sentences present in the corpus are rather
large and sometimes even clumsy. If long sen-
tences are used to illustrate the usage of just one
word, there will inevitably be a lot of irrelevant
information (cf. #1, #2, #3; each of the long sen-
tences is intended to illustrate the behavior of a
single word). On the other hand, the solvers
might enjoy reading long real-life sentences in-
stead of artificial examples.

Another issue that makes composing and us-
ing corpus-based problems difficult is the philos-
ophy underlying such problems. In a typical
problem that contains artificial data all pheno-
mena must be explained by the solver. There is
no place for unexplained variation. However,
problems on corpus linguistics require statistical
manner of thinking, rather than strictly determi-
nistic conclusions. For example, problem #5 illu-
strates tendencies, some of which are more solid
than the others. However, less frequent names do
exist, which might baffle a solver who is used to
explaining everything within a linguistics prob-
lem. In problem #4, the word hozs which uses
the old spelling did not vanish completely after
the spelling reform of 1918. There is some noise
at the bottom of the graph, and the solver has to
understand that it is not necessary to account for
this noise in order to solve the problem.

The authors of problems on corpus linguistics
should also be aware that the methodology they
demonstrate is not always sound. For instance, in
problem #6 Google hit counts are used in spite of
the fact that is has been shown many times that
they cannot be trusted (cf. Kilgarriff 2007).
Ideally, a problem on computational linguistics
should be accompanied by an afterword explain-
ing the drawbacks of the methods it uses. Other-
wise it might be tempting for students to get a
simplistic notion of corpus linguistics and its me-
thodology.

5 Conclusion

The corpus is a valuable data source not only for
linguistic studies, but also for composing linguis-
tic problems. Corpus linguistics problems are
useful to introduce the study of variation and the
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basics of statistical thinking in linguistics. How-
ever, they also have certain drawbacks, namely
their length and unexplained variation within the
data (which can however sometimes be an ad-
vantage bringing the problem closer to the real
life). The main advantage of corpus-based prob-
lems is that real data are used, which can be veri-
fied and even more thoroughly studied by the
student. Moreover, through such problems the
students become acquainted with corpus linguis-
tics as a research field that is rapidly gaining im-
portance.

Acknowledgements

This research has been partially financed by a
research program of History and Philology
Branch of the Russian Academy of Sciences, a
grant from the Russian Humanitarian Scientific
Foundation No. 13-04-00307a, a President Grant
for Leading Scientific Schools of Russia (No.
NSh-6577.2012.6) and the Program of Strategic
Development of the Russian State University for
the Humanities. We would like to thank Alek-
sandrs Berdicevskis, Leonid Iomdin and Maria
Konoshenko for valuable comments.

References

Adam Kilgarriff. 2007. Googleology is Bad Science.
Computational Linguistics 33 (1): 147-51.

Boris L. Iomdin and Leonid L. Tomdin. 2011. Valency
ambiguity interpretation: what can and what cannot
be done. In: Proceedings of the 5th International
Conference on Meaning-Text Theory. Barcelona,
September 8-9, 2011. Ed. by Igor Boguslavsky and
Leo Wanner. Barcelona: University Pompeu-Fabra.

Ivan A. Derzhanski, Aleksandr S. Berdichevskij, Kse-
nia A. Guiliarova, Boris L. Iomdin, Elena V. Mu-
ravenko, and Maria L. Rubinstein. 2004. O perevo-
dimosti lingvisticheskix zadach: Uroki pervoj
mezhdunarodnoj lingvisticheskoj olimpiady [On
translatability of linguistic problems: Lessons of
the First International Linguistics Olympiad]. In:
Computational linguistics and intellectual technol-
ogies. Papers from the annual international confe-
rence “Dialogue”. Moscow: Nauka, pp. 240-5.



